
 

 

 

 

 

 

 

 

 

 

 

 

 

Front winch bumper 

4 LED LIGHTS OPTION 

Land rover Defender 

 

 

 

 

 

 

 

 

 

 

 



 
1 

 

Technical Card 

 

 

 

 

General Information 

 

 

 

 

 

 

 L W H  
Dimensions 162,5 28 20,5 cm 

Winch Plate Size  62,5 19   cm 
 

    

     

  Weight     

Bumper  33 kg   

Bumper Central Box 13 kg   

Right Wing  10 kg   

Left Wing 10 kg   



 
2 

 

Parts 

Part name  Quantity  

   

Bumper Central Box 1   

Front Cover 1   

Left Bumper Wing 1   

Right Bumper Wing 1   

Left Lamp Guard 1   

Right Lamp Guard 1   

Alu Top Plate 2   

Hi-lift Jack Point 2   

Left Light Mount 1   

Right Light Mount 1   

Fi56 mm Light 
Mount 2   

Logo Plate 1   

Logo Under Plate 1   

 

Bumper Central Box/Cover 

 

Left/Right Bumper Wing  

 

Left/Right Lamp Guards  

 

 



 
3 

 

 

Top Aluminium Plate 

 

Hi-Lift Jack Point  

 

Left/Right Lights Mount 

 

Left/Right fi56mm Lights Mount   

 

Logo Plate/ Under Plate  

LED Lights 

Led Light Fi90 mm WAŚ x2      Mini Led Light Fi57mm 10W x2 

 

 

 



 
4 

 

 

 

Other Parts 

 

Other Parts  Size  Quantity Colour   

Bolts Screws       

Hexagonal Bolts M12X120 4     Main Mount to Chassies 

Washers M12 4       

Hex Serrated Flange Nuts M12 4       

Hexagonal Bolts M12x35 8     Wing Assembly 

Washers M12 8       

Hex Serrated Flange Nuts M12 8       

Hexagonal Bolts M10X25 6    

Washers M10 6    

Hex Serrated Flange Nuts M10 6    

Button Screw Head Bolts M8X20 6 Black   Front Winch Cover 

Hex Serrated Flange Nuts M8  6       

Button Screw Head Bolts M8x20 8 Black   Hi-Lift  

Hex Serrated Flange Nuts M8 8       

Allen Cap Bolts M8x20 4     LED Lights Mount 

Hex Serrated Flange Nuts M8 4       

Allen Cap Bolts M6x16 8 Stainless   LED Light Waś Fi90 mm 

Hex Serrated Flange Nuts M6  8       

Hexagonal Bolts M6x16 2     Led Fi56 mm 

Hex Serrated Flange Nuts M6 2       

Allen Cap Bolts M6x16 8 Black   Lamp Guard 

Hex Serrated Flange Nuts M6 8       

Allen Cap Bolts M6x16 4 Alu   Logo Plate 

Hex Serrated Flange Nuts M6 4    

      

Parts   Quantity    

WAŚ LED fi90mm Light   2     

LED Light fi54    2     



 
5 

 

Additional Bumper Accessories 

 

 

 

 

 

 

More info on 

www.hyenaoverland.com 


